
 

 

S0609 

KAWASAKI ZX – 4RR, 2023 –  
REVERSE SHIFTING / without ECU flash 

Part Nr. 65301 

BD20 + 
M5 x 6 DIN7380 

8860 

818057 

M6 x 20 DIN7380 

+ 2x 123120306 

+ 817 

M6 x 12 DIN7991 

M8 x 35 DIN912 

+ 2x 123221508 

+ 807Z 

M8 x 20 DIN912 

+ 807Z 

M8 x 35 DIN7991 

+ 123120508 

M6 x 30 DIN7984 

+ 123120906 

M8 x 35 

DIN7991 
+ 123220908 

M6 x 25 DIN7380 

+ 817  

+ M6 DIN985 
 

813RD 

813LB 

810R + 

M6 x 25 DIN7991 

 

818046 

M8 x 35 DIN6921 

+ 123220608 

M5 x 20 DIN7380 
+LOCTITE 243 ! 

+ M5 DIN934 

M8 x 25 

DIN7991 

818035 

M8 x 50 DIN6921 

+ 123221508 


